ITBRXAIA O#fiET K (2017/10/13R7E)

HhX £ TBRX 4 ] = = HHH
FREHX EX 47 41 88 42
FHE#KX L {hET 19 23 42 17
FREHX {ch T 13 17 30 14
FHREMX AET—TH 11 13 24 12
FHEH#EX AET—TH 21 21 42 14
FHREMX AET=-mTH 22 28 50 29
FREHX 3HT 27 30 57 31
FHE#EX S HT 36 41 77 37
FREHX JoHT 42 58 100 45
FHREMX v 32 38 70 33
FREHX EEET 18 16 34 12
FHREMX SEEHE] 21 21 42 19
FREX T L FHET 36 50 86 42
FHE#KX et i1 40 36 76 43
FREX AEET 59 48 107 64
FHE#KX LEE 19 38 57 28
FREX e 17 29 46 25
FHEMX fin = BT 69 90 159 72
FHEH#X N 396 415 811 388
FHEMX TS 120 123 243 107
FREX A 82 91 173 83
FHE#KX i EH 794 866 1,660 679
FREX i 85 104 189 74
FHEMX B 44 41 85 33
FHEH#X RBETARER 338 362 700 281
FHEMX F+ R HET 288 441 729 317
FHREMX §E AT 58 58 116 59
FHEMX /10 485 497 982 342

FREMXE 3,239 3,636 6,875 2,942
HEHX ARZEBTKZAR 255 282 537 227
B X AXEP 123 122 245 89
HERX hid 130 124 254 104
HEH X BE 90 108 198 77
HERX B 82 93 175 89
B X E1l=] 13 12 25 10

HERXET 693 741 1,434 596
RIFHh X KHET 487 591 1,078 453
RIEHh X 0 3+ T 214 248 462 198
RIFH#h X =k 414 449 863 345
RIEih X Kl 67 72 139 54
KiTHh X EEEF 54 65 119 47
KT #h X &= 143 138 281 104
KT X ThaE 135 134 269 93
RIFHh X TRE T 149 136 285 114
RIEHh X 7LF 217 224 441 192
KT X RHEEF 329 375 704 305
KiTHh X AR 367 404 771 377
RIFHh X REE 2 20 22 22
RIEFHh X AHEYHE 101 106 207 64
KT #h X HIVHLE 495 480 975 388
KT #h X 2Dl R 584 592 1,176 358
KT #h X FS5\50FEY 2 13 15 14

KiFh X 5t 3,760 4,047 7,807 3,128
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HhX £ THRX4A 5 = = HHH
SL{EHX FrRET1X 136 180 316 163
SLEHX FXET2X 297 356 653 338
SL{EHX T RET3X 240 216 456 223
STEHX IifEE—TH 214 318 532 256
SL{EHX IA{EEZTH 238 267 505 226
SEH X IAER=TH 654 682 1,336 478
SLEH X M{EAMTH 89 146 235 129
SLTEHX = HT 526 514 1,040 428
SLEH X ] 368 381 749 331
SLEHX ErhE 735 838 1,573 643
SL{EHX FTRET AR 144 126 270 165
SLEHX RIEIE 24 63 87 87

MTEH X ET 3,665 4,087 7,752 3,467
KIJIAHET B8 66 89 155 55
KRIIRHET INRR 52 71 123 49
KIIPHET it 215 234 449 191
KRIIRHET il 44 45 89 40
KIIPHET RINALWL 85 101 186 75
KIJNAET 1IEAth 70 79 149 60
KIIPHET = H 103 119 222 84
KIJNAET =i 124 128 252 100
KIIPHET TE 252 262 514 212

KINAHBTET 1,011 1,128 2,139 866
=L f=H 47 50 97 33
2187 i 29 32 61 18
28y Fi5 20 24 44 19
28y REN 96 110 206 84
=L B 45 50 95 42
2JIET 1BE 156 177 333 139
=L INEN 176 109 285 157
28y b 106 115 221 96
=L 218 38 42 80 36
=L BIR 57 69 126 48
=L K 24 24 48 21
28y S 22 21 43 11
2)I|fT ivA=| 31 35 66 23
28y £H 32 43 75 24
=/ ET TtE 36 35 71 26
=L RN 97 117 214 65
=L RE 47 48 95 26
2118 BEFH 77 100 177 54
=187 %3 i 564 222 786 491
28] WER 2 8 10 10

£ )IIBTET 1,702 1,431 3,133 1,423
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X% TBRX 4 ] = E HHH

K % 2 HET Kiz 100 99 199 66
K% LEI] 11 13 24 11
K % 2 HET [GEii 87 111 198 71
K% EET HEFE 40 55 95 43
iR % EET HE 44 38 82 25
K% EET AR 56 61 117 39
iR % EET EEBIE 32 32 64 22
K% R Fl 62 58 120 43
K % 2 HET 12 50 58 108 40
K% R E5] 95 99 194 59
K % 2 HET EE 59 55 114 39
K % EET Bias 47 64 111 36
K% EET pus 90 84 174 52
K% ] 331 339 670 253
K% ERTET 1,104 1,166 2,270 799

EREL =Rl 49 56 105 31
REL THE 137 133 270 82
EREZ KINE 106 140 246 84
RiEL INETR 45 48 93 30
ER:EL 8T 67 80 147 53
RiEL 8L 137 145 282 89
EREZ [REE 140 151 291 93
RiEL HFH 205 203 408 152
EREZ =i 54 70 124 42
RiEL Bith 1 1 2 1
EREL PN 47 47 94 27
EREL K& 60 65 125 45
&L mE 62 52 114 28
EREL A0 38 46 84 23
&L ERi 60 70 130 38
R ST ET 1,208 1,307 2,515 818

KIINET =] 158 167 325 138
KJIET kil 52 46 98 44
KIIET Iak=)ll 84 88 172 61
KJIIET HFO 100 98 198 59
KIIET £H 90 108 198 67
KJIIET JII 78 91 99 190 66
KIJIET HOB 0 0 0 0
KJIET Eqng 141 147 288 102
KJIET sz 200 230 430 176
KJIET o 95 108 203 61
KJIIET RER 43 47 90 33
KJIET IR 72 90 162 61
XJIETE 1,126 1,228 2,354 868
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HhX £ TBRX 4 ] = = HHH
¥ASHET E¥) 121 122 243 93
¥AEET LIE 57 58 115 41
¥ASHET TH 195 229 424 185
¥AEET TF 94 119 213 91
¥ASHET =] 37 45 82 29
¥AEET EIR 53 62 115 44
¥ASHET P2 80 77 157 57
¥AEET I 106 107 213 79
¥ASHET ABRK 35 30 65 26
¥AEET BR 98 123 221 85
¥ASHET k) 98 107 205 77
¥ASEET hiE 84 85 169 62
L) £RR 51 44 95 39

FAHETET 1,109 1,208 2,317 908
ZBH H/\A# 772 864 1,636 706
ZBH 7B\ 248 262 510 229
ZBH ES 724 772 1,496 675
ZBir KE 609 613 1,222 485
Z—EBm = 109 97 206 105
ZBH AN &5 105 121 226 99
—EBHmr £H 182 238 420 183
ZBH EHF 91 103 194 85
—Emr FH 66 85 151 63
ZEBH =55 54 59 113 46
ZEH A 57 64 121 49
ZBH aF 33 34 67 31

ZBHTEt 3,050 3,312 6,362 2,756
BRI HET ] 553 602 1,155 475
B HET =20 60 51 111 53
BILACHET Rk 1,074 1,085 2,159 855
B HET BHE 73 71 144 50
BILACHET XA 85 90 175 79
B HET g 163 197 360 139
BILACHET NN 148 182 330 138
B HET BAAR 87 90 177 76
BILACHET RKAR 186 210 396 157
B HET =iE 157 191 348 153
BILACHET ER 58 74 132 64
BILACHT TH 7 8 15 7
BILACHET E)A 79 79 158 76
BILAHET TnE 4 8 12 6
BILACHET NSk 81 78 159 63
BILACHT H 4l 9 5 14 5

BILACHETET 2,824 3,021 5,845 2,396
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HhX £ TBRX 4 ] = = HHH
T WAE 278 308 586 264
LA ET WA 411 440 851 389
HCET =R 56 67 123 55
AT b5 69 77 146 65
i ET I 57 57 114 50
K ET 1Y) 122 154 276 131
HCET AR—X 234 223 457 187
AT ABR-K 346 384 730 338
HCET ABR=RX 108 125 233 114
I ET b ) 148 180 328 155
I HCHT NI 93 124 217 118
I ET g 101 104 205 86
I ACHT @ 104 120 224 119
HIAXHET [ichay 115 107 222 90
T BARAR 35 34 69 35
L ACHT ¥ 258 36 37 73 26
I CHT E¥)) 48 52 100 46

L ETET 2,361 2,593 4,954 2,268
wt 26,852 28905 55757 23,235

5/5



